15-11
Select a solid, rectangular, Eastern hemlock beam section for a 16-ft simple span carrying a superimposed

uniform load of 800 Ib/ft. w= 500 mlH
Solution. | '
W =800 b/ 4+
L=1b # L=l +4 I
EaSlern llew locle =Taple 15-2 .
Tallow = 1350 psc Tappus = 80 psc

Step 2. Table 13-\, case 1

.o We b/ le4d) _ 00
Vmﬂx- s = $o0 ‘F';'( = G400 1b
z 121
Mmaxs we = 80014y (‘b“) = 25600 lb-# (‘22 ) 307,200 |bn
3 8
Step3. & = Mmax _ 207200 ' _ 223 i
vV Taew 1350 psc
"2
Tt ’qre6= LS Vmer = hs (bwoo) - 120 m
Tallow 80 pSt

StepS. Tavle A-bfa)
g% 18  A=13\ w>  §= 383w wt= 36,5 b/gy
10 ¥ 4 A=128 w* S= 289 n° wit= 35,6 lb/ss

Select +he hjlnl-eﬂ'J D % IY
wt ot Beam = 35.6 1b/i4 = pys = 45 %Y

Load 800 16/ 1
Exhe S - 281 w3— 228w . 0.268 =26.3% > %Shv
S"k 228 w3 (hnding)
Evten A < 128 w7 = (200" = 0,063 =63% 7 57
Freg - e o™ (B
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